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ES-343: TEACHING OF SOCIAL STUDIES
Time : 3 hours Maximum Weightage : 70%

Note: All the four questions are compulsory. All
questions carry equal weightage.

1. Answer the following question in about
600 words :
Explain the meaning and objectives of teaching
social studies. Discuss various approaches to
teaching social studies.

OR

What do you mean by group-directed
instructional inputs ? Describe various
group-directed instructional inputs wused in
teaching social studies at the secondary level.

2. Answer the following question in about
600 words :
What were the effects of geographical
discoveries ? Prepare an instructional strategy
comprising instructional objectives,
teaching-learning activities and evaluation items
to teach the same content.

OR
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Differentiate between the social infrastructure
and the economic infrastructure. Prepare an
international strategy comprising instructional
objectives, teaching-learning activities and
evaluation items to teach the differences.

3. Answer any four of the following questions in
about 150 words each :

(a) Explain the concept of ‘totality of
environment’. How will you teach this
content ?

(b) What are major physical divisions of India ?
State three instructional objectives on this
content.

(c) Differentiate between quantitative and
qualitative assessments in social studies.

(d) State the indicators of  economic
development. Mention instructional media
that you will use to teach this content.

(e) Explain the meaning and use of
brainstorming in teaching social studies.

(f) Illustrate, with an example, the use of
demonstration in teaching of social studies.

4. Answer the following question in about
600 words :
Select a topic of your choice from social studies
curriculum at secondary school level.

Prepare a lesson plan on the same topic.
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